JEFLRS: 000681 WEFHBTR: RFRE DNERS: 2022-047

B (PED AR RBRAAERAF
RTEBIR . Fhriz il AR LB 190 A%

ARERRE . EPMEFIABEIREERIEBRANERSE, R, T8, R
AERICH. RFUHFRREXRR.
ARARERREBRARIAEARSEERENSARENES—.

pl|

MG CRED SR B A BR A (BURRifRe“~=]™) T 2022 4 9 A 23 Hi#
AR BITEN A CR TR AR B & Fes ), FREBIENT 2022 4 9 H 23 Hil

R RSEAE 5 U5 A Bds A w et 969 Jifke, 5 A FLEBCAHT 1.38%. HARTEHLUNE -

LERFMR
EISSE S E N B
G A6 T RH BH XA 10 53 [ bR 2% [l B5/B8
R 2R AL B I ] 2022 £ 9 H 23 H
JBE SR TR RR RGE JB RS 000681
4 no
AFHA —HUTEIA AV Ko
Pk
T A — R AR B praz i A 2\ fio

2 KRB LA EE B

B FE (A . B RS IR (IO IFFLER] (%)




W UETF A Z T KR A 5
1k

=

A B 969.00 1.38

& i 969.00 1.38
WEARAE G TR S o
AU A T3 v

O

3. ARG, HEEEE—BUTSIAIE LT ARG B 4B o

) AR FNHTRFA Bty RIRABH G FEA ety
e AP SRSy N SRSy N
ey i e (0a)9) AT R)
EE 41 (%) EE 151 (%)
AR Bt 8,816.26 12.58 8,816.26 12.58
L Horp: TR S 0 0 0 0
A7 PR SR Ao 8,816.26 12.58 8,816.26 12.58
AR Bt 6,913.19 9.87 5,944.19 8.48
BHEYI | o RRE SR 6,913.19 0.87 5,944.19 8.48
A7 BB S 0 0 0 0
AR Bt 8,416.13 12.01 8,416.13 12.01
REHG | Hrr TIRE R 8,416.13 12.01 8,416.13 12.01
A7 BB S 0 0 0 0
HiHRA Bt 3,142.38 4.49 3,142.38 4.49
SedkZE | Hr. RS KA 535.22 0.76 535.22 0.76
A IR A 2,607.16 3.72 2,607.16 3.72




BFEE A 40.00 0.06 40.00 0.06

Bt | Hodrs PRSI 40.00 0.06 40.00 0.06
A IR S A 0 0 0 0

Gt B 10.00 0.01 10.00 0.01

ARIGERHE 2 | Forr: ToPRAS 5t 10.00 0.01 10.00 0.01
A IR A A 0 0 0 0

HIHREA B 27,337.97 39.02 26,368.97 37.64

Horr: ORI 15,914.55 22.72 14,945 55 21.33

A IR A e tn 11,423.42 16.31 11,423.42 16.31

e L REECHAFESR, A, T 202296 H 22 AAEMmMEAT, Bt TR 0 A A i aie

SRR IO AR HEE . BB HRA A IRE SRR B BUE Bt

2. AR NSRS A O AR

3. RHZERARNE DA,

4. A HRISBITBR

ARIRAL BTN IEAT AR K

o iy
(7N ST
AR B T GIEFRED
(EmarIWE B IME) Sk
B ATBUEML M=, e o B

P SCAFARIAS Bl 55 LU 55 A€ )
it




5. 5 PRI AL I Ao 5 00

M GEZRRD) BN =26 0030

SE s FETFAEARAT R R o iy
ey
6. % & X

1. PEREF LS A IR O A ml R RS B 4io
2. HRA A o

3. ARSI E Ko

4. RAEFTERE AN SN AR R

e CRED TR AR R 2 7]
E R IS

—O- A -+=H




